415. 101SC/ ST 2000

Principles of Programming

Test SOLUTIONS:
Question 1 (10 marks)
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Question 2 (5 marks)

1() after String

2 == after r and
3 afterif
49l ass

5 missing { after mai n

Question 3 (10 marks)

public void paint(Gaphics g) {

final

int SIZE = 50;

g.drawOval (0, 0, SIZE, SIZE);

g. drawOval (0, SIZE, SIZE, SlIZE);
g.drawOval (SI ZE, 0, SIZE, SlIZE);

g. drawOval (SI ZE, SIZE, SIZE, Sl ZE);
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Question 4 (10 marks)
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Question 5 (6 marks)

i:! =———— Java Console

1. The number is: 26
. The number i=: 25
2. The number iz=: 21
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Question 6 (30 marks)

i mport java.aw.*;
i mport java. applet.*;
i mport java.aw.event.*;

public class question07 extends Applet inplenents ActionListener, Mouselistener

{

private final int SlIZE = 25; /**  WDTH and HEI GHT of the square */
private final int START_X = 40; [** initial x position of the square */
private final int START_Y = 50; [** initial y position of the square */

/** current x, y of the square */
private int squareX, squarey,
[** reset Button */
private Button resetB;
/** boolean to store whether square area is cleared */
private bool ean isSel ect ed;

/[** set up the TextFields, Button */
public void init() {

I sSel ected = fal se;
squareX = START_X;
squareY = START_Y;

addMbuseli stener(this);
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reset B = new Button("RESET");
reset B. addAct i onLi stener (this);
add(resetB);

/[** display the square in its current position */
public void paint( Gaphics g ) {

I f (isSel ected)

g. set Col or (Col or.red);
el se

g. set Col or (Col or. cyan);

g.fill Rect(squareX, squareY, SIZE, SlIZE)

}
/** called when the RESET button is clicked */
public void actionPerfornmed(Acti onEvent e) {

i sSel ected = fal se;

squareX = START_X;
squareY = START_Y;
repaint();

}

/[** called when one of the buttons is pressed */
public void nousePressed( MouseEvent e) {

int xPos, yPos;
//get the x, y value of the user click

xPos = e.get X();
yPos = e.getY();
I f (isSelected){

squar eX = xPos;

squareY = yPos;

I sSel ected = fal se;
}

else if (xPos>squareX && xPos<squareX+SlZE &&
yPos>squar eY
&& yPos<squar eY+Sl ZE) {
I sSel ected = true;

}

repaint();

/** these nethods are not used */

public voi d mouseEnt ered( MouseEvent e) {}
public void nouseExited(MuseEvent e) {}
public void moused i cked(MouseEvent e) {}
public void mouseRel eased( MouseEvent e) {}
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Question 7 (4 marks)

('(a<b)) && (b >=c): false
(a>Db || a<=¢c¢) & (c '=Db)): true

Question 8 (15 marks)

/I Wite your getGuess nethod here

private String getGuess(String lowerS, String upperS){
I nt guess;
int | ower, upper;

| ower = Integer. parselnt(lowerS);
upper = Integer. parselnt(upperS);
guess = (int) Math.round(Math.randon()*(upper -

| ower) + | ower);
return String.val ue (guess);

}
Question 9 (10 marks)
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